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Seven friends are visiting seven different cities 
namely, Jhansi, Delhi, Ooty, Shimla, Amritsar, 
Lucknow, and Bhuvneshwar but not 
necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
who visits Bhuvneshwar is immediately above 
the one who visits Shimla. Only one person is 
there between the one who visits Delhi and 
the one who visits Bhuvneshwar

सात मित्र सात अलग-अलग शहरों, झाांसी, दिल्ली, 
ऊटी, मशिला, अितृसर, लखनऊऔर भुवनेश्वर
का िौरा कर रहे हैं, लेककन जरूरी नहीां कक इसी क्रि
िें हों। झाांसी जाने वाला व्यक्तत, लखनऊ जाने
वाले व्यक्तत के ठीक ऊपर बैठा है। अितृसर जाने
वाले व्यक्ततऔर झाांसी जाने वाले व्यक्तत के
िध्य केवल िो व्यक्तत हैं। ऊटी जाने वाला व्यक्तत
अितृसर से ऊपर है लेककन अितृसर जाने वाले
व्यक्तत के ठीक ऊपर नहीां है। मशिला जाने वाले
व्यक्ततऔर ऊटी जाने वाले व्यक्तत के िध्य
केवल तीन व्यक्तत बैठे हैं। वह व्यक्तत जो
भुवनेश्वर जाता है, वह मशिला जाने वाले व्यक्तत
के ठीक ऊपर है। दिल्ली का िौरा करने वाले और
भुवनेश्वर जाने वाले व्यक्तत के बीच केवल एक
व्यक्तत है
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Seven friends are visiting seven different cities 
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necessarily in the same order. The one who 
visits Jhansi is immediately above the one who 
visits Lucknow. There are only two persons 
between the one who visits Amritsar and the 
one who visits Jhansi. The one who visits Ooty
is above Amritsar but not immediately above 
the one who visits Amritsar. Only three 
persons are between the one who visits 
Shimla and the one who visits Ooty. The one 
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How many people are visiting between the one who visits 
Ooty and the one who visits Bhuvneshwar? 
A. One B. Two C. Three D. Four E. None

Which of the following city is visited immediately before 
Delhi? 
A. Ooty B. Amritsar  C. Delhi  D. Bhuvneshwar  E. 
None

Which of the following cities are there between Jhansi 
and Amritsar? 
A. Shimla, Bhuvneshwar 
B. Ooty, Shimla 
C. Lucknow, Delhi 
D. Lucknow, Ooty
E. None of these
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Which of the following condition is correct regarding Amritsar with 
respect to Bhuvneshwar? 
A. There is one city between Bhuvneshwar and the one who visits 

Amritsar 
B. Bhuvneshwar is immediately above the one who visits Amritsar
C. All the above are true 
D. The one who visits Amritsar is the person immediately above 
Bhuvneshwar 
E. None of these

Which of the following cities is there exactly between Delhi and 
Jhansi? 
A. Amritsar B. Ooty C. Shimla D. Lucknow E. None of 
these
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. If all the letters in the words are arranged in reverse alphabetical order and then after all the 
word are arranged in alphabetical order from left to right, then which of the following word is 2 
nd from the right end thus formed? यदि शब्िों के सभी अक्षरों को उल्टे वर्ाानुक्रि िें व्यवक्थित 
ककया जाता है और किर सभी शब्िों को बाएां से िाएां वर्ाानुक्रि िें व्यवक्थित ककया जाता है, तो 
ननम्नमलखखत िें से कौन सा शब्ि िायें छोर से िसूरे थिान पर बनता है?
A. PLG B. UND C. TNK D. NIC E. None of these 

In each word every consonant is changed to the previous letter in English alphabetical series 
then how many words have at least single vowels? प्रत्येक शब्ि िें प्रत्येक व्यांजन को अांगे्रजी 
वर्ािाला के पपछले अक्षर से बिल दिया जाता है, तो ककतने शब्िों िें कि से कि एक थवर 
होगा?
A. One B. Two C. Three D. Four E. None of these
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In each of the word if we interchange the first letter with third, then the first letter with the 
second one, then which of the following is the third word according to English dictionary 
(answer in terms of original word)? प्रत्येक शब्ि िें यदि हि पहले अक्षर को तीसरे से, किर 
पहले अक्षर को िसूरे से बिल िें, तो अांगे्रजी शब्िकोश के अनुसार ननम्नमलखखत िें से कौन 
सा तीसरा शब्ि है (उत्तर िूल शब्ि के सांिभा िें)?
A. NKT B. BEA C. DNU D. ICN E. None of these

If we interchange second letter with third and then first letter with third letter then what 
will be the value if we add all the place values of first letter in each word thus formed? 
यदि हि िसूरे अक्षर को तीसरे से और किर पहले अक्षर को तीसरे अक्षर से बिल िें तो इस 
प्रकार बने प्रत्येक शब्ि िें पहले अक्षर के सभी थिानीय िानों को जोड़ने पर तया िान होगा?
A. 30 B. 35 C. 40 D. 45 E. None of these
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.If we add all the letters place value in each word then which of the following word 
number is completely divisible by 9? 
यदि हि प्रत्येक शब्ि िें सभी अक्षरों का थिानीय िान जोड़ िें तो ननम्नमलखखत िें 
से कौन सी शब्ि सांख्या 9 से पूर्ातः पवभाक्जत होगी?
A. BEA B. NKT C. DNU D. ICN E. None of these
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 

आठ व्यक्तत अिाात ्S, T, U, V, W, X, Y और Z 
एक सेआठ तकआठअलग-अलग िांक्जलों पर
रहते हैं। भतूल सांख्या 1 है और शीर्ा तल सांख्या
आठ है लेककनआवश्यक नहीां इसी क्रि िें हो।
X पवर्ि सांख्या वाली िांक्जल पर रहता है
लेककन तीसरी िांक्जल पर नहीां रहता है। Z, X के
ठीक नीचे रहता है। Z और Y के बीच िो से
अधिक व्यक्तत रहते हैं। S और Y के बीच छह
व्यक्तत रहते हैं। V, W के ठीक ऊपर रहता है
लेककन T के नीचे रहता है। U, X के ऊपर नहीां
रहता है। W, Y के ठीक ऊपर नहीां रहता है। .
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There are eight persons namely S, T, U, V, 
W, X, Y and Z lives on eight different floors 
from one to eight. Ground floor is number 1 
and top floor is number eight but not 
necessarily in the same order. X lives on 
odd number floor but does not live on 3rd 
floor. Z lives immediate below X. More than 
two person lives between Z and Y. There 
are six person lives between S and Y. V lives 
immediate above W but live below T. U 
does not live above X. W does not live 
immediate above Y. 
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Who lives on floor number five? 
(a) U (b) S (c) Z (d) T (e) None of these

How many persons live between W and X? 
(a) One (b) Three (c) Five (d) Two (e) None of these

Who lives immediate above V? 
(a) Z (b) T (c) Y (d) W (e) None of these

Four of the following five are alike in a certain way based on the 
given arrangement and thus form a group. Which is the one that 
does not belong 
to that group? 
(a) Y (b) V (c) T (d) X (e) W

Who lives on 2nd floor? 
(a) X (b) S (c) U (d) Z (e) None of these
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusion I and II follow
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How many C’s are there in the alphabetical series which are immediately preceded by 
a vowel and immediate followed by consonant? वर्ािाला श्ृांखला िें ऐसे ककतने C हैं 
क्जनके ठीक पहले एक थवर और ठीक बाि िें एक व्यांजन है?
(a) One (b) Two (c) Three (d) More than three (e) None of these

If all the vowels are dropped from the series, then which alphabet will be eighth 
from the left end? यदि श्ांखला िें से सभी थवरों को हटा दिया जाए, तो कौन सा 
वर्ा बाएां छोर से आठवाां होगा?
(a) C (b) B (c) N (d ) F (e) None of these

How many total vowels in the alphabetical series? वर्ािाला श्ृांखला िें कुल ककतने थवर 
हैं?
(a) Five (b) Ten (c) Three (d) Nine (e) None of these
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How many Vowels are there in the alphabetical series which are immediately preceded by 
a consonant? 
वर्ािाला श्ृांखला िें ऐसे ककतने थवर हैं क्जनके ठीक पहले एक व्यांजन है?
(a) One (b) Two (c) Four (d) More than Five (e) None

If the position of the 1st and the 14th alphabets, the 2nd and the 15th alphabets, and so on 
up to the 13th and the 26th alphabets, are interchanged, Then which alphabets will be 7th 
to the right of 10th alphabets from the right end? यदि पहले और 14वें अक्षर, िसूरे और 
15वें अक्षर और इसी तरह 13वें और 26वें अक्षर तक की क्थिनत को आपस िें बिल दिया 
जाए, तो कौन सा अक्षर िायें छोर से 10वें अक्षर के िायें से 7वाां होगा?
(a) A (b) C (c) N (d)B (e) None of these
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There are eight notes of different 
denominations i.e. 
1,5,20,50,100,200,500,2000 rupees which 
are arranged in a circular arrangement 
facing towards the centre not necessarily in 
the same order. 50 rupees note is arranged 
second to the right of 200 rupees note. Odd 
denominations note will not be immediate 
neighbour of 200 and 50 rupees note. There 
will be less than 100 rupee denomination 
note to the immediate left and immediate 
right of 100 rupees note except 1 rupee 
note. 100 rupee note is second to the left of 
5 rupees note. 2000 rupees note is second to 
the left 100 rupees note.

पवमभन्न िलू्यवगा के आठ नोट हैं अिाात
1,5,20,50,100,200,500,2000 रुपये जो
एक वतृ्ताकार व्यवथिा िें कें द्र की ओर िखु
करके व्यवक्थित ककए गए हैं जरूरी नहीां कक
इसी क्रि िें हों। 50 रुपये के नोट को 200 
रुपये के नोट के िादहनीओर िसूरे थिान पर
व्यवक्थित ककया गया है। पवर्ि िलू्यवगा
का नोट 200 और 50 रुपये के नोट का
ननकटति पडोसी नहीां होगा. 1 रुपए के नोट
को छोड़कर 100 रुपए के नोट के ठीक बाएां
और तत्काल िाएां 100 रुपए िलू्यवगा के
नोट होंगे। 100 रुपए का नोट 5 रुपए के नोट
के बाएां से िसूरे नांबर पर है। 2000 रुपए का
नोट बाएां 100 रुपए के नोट के बाि िसूरे
नांबर पर है।
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There are eight notes of different 
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the left 100 rupees note.
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Which rupee note will be arranged to the immediate left of 50 
rupees note? (a) 100 (b) 2000 (c) 500 (d) 5 (e) None of these

Which rupee note will be arranged to the third to the right of 5 rupees 
note? 
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these

What will be the sum of note which is immediate left of 50 rupees note 
and immediate right of 500 rupees note? 
(a) 2100 (b) 550 (c) 700 (d) 2200 (e) None of these

Which denomination note are between 1 and 100 rupees note, when 
counted clockwise from 1 rupee note? 
(a) 5 and 20 (b) 50 and 100 (c) 200 and 2000 (d) 1 and 500 (e) None of 
these 

Which rupee note will be arranged to the third to the right of 2000 
rupees note?
(a) 2000 (b) 100 (c) 200 (d) 20 (e) None of these 
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If all the digits of numbers are arranged in ascending order within the number, then which of the 
following is lowest number? यदि सांख्याओां के सभी अांकों को सांख्या के भीतर आरोही क्रि िें 
व्यवक्थित ककया जाता है, तो ननम्न िें से कौन सी सबसे छोटी सांख्या है?
(a) 975 (b) 649 (c) 834 (d) 563 (e) None of these

If 1st digit of highest number is divided by 2nd digit of 2nd highest number, then what will be the 
resultant? 
यदि सबसे बड़ी सांख्या के पहले अांक को िसूरी सबसे बड़ी सांख्या के िसूरे अांक से पवभाक्जत ककया 
जाता है, तो पररर्ाि तया होगा?
(a) 2 (b) 3 (c) 4 (d) 5 (e) None of these

If 2 is subtracted from the every even digit and 1 is subtracted from every odd digit number of 
each number, which number among them will be lowest number? यदि प्रत्येक सि अांक िें से 2 
घटाया जाता है और प्रत्येक सांख्या की प्रत्येक पवर्ि अांक सांख्या िें से 1 घटाया जाता है, तो उनिें 
से कौन सी सांख्या सबसे छोटी सांख्या होगी?
(a) 834 (b) 427 (c) 563 (d) 649 (e) None of these
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What is addition of 3rd digit of highest number and 2nd digit of lowest number? सबसे बड़ी सांख्या के 
तीसरे अांक और सबसे छोटी सांख्या के िसूरे अांक का योग तया है?
(a) 7 (b) 6 (c) 4 (d) 3 (e) None of these

If 1st digit of 2nd highest number is divided by 1st digit of lowest number, then what will be the 
resultant? यदि िसूरी सबसे बड़ी सांख्या के पहले अांक को सबसे छोटी सांख्या के पहले अांक से 
पवभाक्जत ककया जाता है, तो पररर्ाि तया होगा?
(a) 5 (b) 3 (c) 2 (d) 4 (e) None of these

If 1 is subtracted from each even number and 2 is subtracted to each odd number in the number 
5827936, then how many digits will appear twice in the new number thus formed? यदि सांख्या 
5827936 िें प्रत्येक सि सांख्या िें से 1 घटाया जाता है और प्रत्येक पवर्ि सांख्या िें 2 घटाया 
जाता है, तो इस प्रकार बनी नई सांख्या िें ककतने अांक िो बार आएांगे?
(a) Only 7 (b) Only 5 and 7 (c) 1, 5 and 7 (d) 4, 5 and 9 (e) None of these 
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How many letter will be remain at the same position in the word ‘SURFACE’ when they are 
arranged in the alphabetical order from left to right? 

शब्ि 'SURFACE' िें ककतने अक्षर सिान थिान पर रहेंगे जब उन्हें वर्ाानुक्रि िें बाएां से िाएां 
व्यवक्थित ककया जाएगा?

(a) four (b) Three (c) One (d) Two (e) None of these 
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There are five person i.e. P, Q, R, S and T. If Q is taller than R and S but smaller than T. S is 
smaller than T, who is not the tallest. Then who is the tallest person among all? 
पाांच व्यक्तत हैं अिाात P, Q, R, S और T। यदि Q, R और S से लांबा है लेककन T से छोटा है। S, T 
से छोटा है, जो सबसे लांबा नहीां है। तो सभी िें सबसे लांबा व्यक्तत कौन है?

(a) T (b) Q (c) S (d) P (e)None of these
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How many pairs of letters are there in the word “SENATOR” which have as many letters 
between them in the word as in alphabetical series? 

शब्ि “SENATOR” िें अक्षरों के ऐसे ककतने जोड़ ेहैं क्जनके बीच उतने ही अक्षर हैं क्जतने कक 
शब्ि िें वर्ाानुक्रि िें हैं?

(a) None (b) One (c) Two (d) Three (e) Four
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Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R

आठ मित्र A, B, C, D, P, Q, R और S एक सीिी रेखा
िें बैठे हैं (लेककन जरूरी नहीां कक इसी क्रि िें हों)।
उनिें से कुछ का िुख िक्षक्षर् कीओर है जबकक कुछ
का िुख उत्तर की ओर है। िक्षक्षर्और इसके
पवपरीत)। Q पांक्तत के ककसी एक अांनति छोर पर
बैठा है। C, Q के बायें से तीसरे थिान पर बैठा है। B, 
Q का ननकटति पडोसी नहीां है। P, C के िायें से
तीसरे थिान पर बैठा है। A का िुख उत्तर की ओर है।
D, P के ठीक िायें बैठा है। D पांक्तत के ककसी भी
अांनति छोर पर नहीां बैठा है। R और B के बीच िें
केवल एक व्यक्तत बैठा है। P, R के बाएां से िसूरे
थिान पर बैठा है। S, D के िायें से िसूरे थिान पर
बैठा है। P के िोनों ननकटति पडोसी एक-िसूरे के
सिान दिशा की ओर उन्िुख हैं। C के िोनों
ननकटति पडोसी एक िसूरे के पवपरीत दिशा की
ओर उन्िुख हैं. S का िुख D के सिान दिशा की ओर
है और A का िुख R के सिान दिशा की ओर है

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Eight friends A, B, C, D, P, Q, R and S are sitting in a 
straight line (but not necessarily in the same order). 
Some of them are facing south while some are facing 
north.(Note: Facing the same direction means. If one is 
facing north then the other also faces north and vice 
versa. Facing opposite directions means. If one is 
facing North then the other faces south and Vice 
versa). Q sits at one of the extreme ends of the line. C 
sits third to the left of Q. B, is not an immediate 
neighbour of Q. P, sits third to the right of C. A faces 
north. D sits to the immediate right of P. D does not 
sits at any of the extreme end of the line. Only one 
person sits between R and B. P sits second to the left 
of R. S sits second to the right of D. Both the 
immediate neighbour of P faces the same direction to 
each other. Both the immediate neighbour of C faces 
the opposite direction to each other. S faces the same 
direction as D and A faces the same direction as R
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How many persons sits between D and A? 
(a) One (b) None (c) Three (d) Two (e) None of these

Who among the following pair sits at extreme ends ? 
(a) S, Q (b) D, Q (c) Q, R (d) S, R (e) None of these

Who sits third to the left of D? 
(a) R (b)B (c) Q (d) C (e) None of these

Who sits immediate right of B? 
(a) A (b) C (c) R (d) S (e) None of these

Four of the following five are alike in a certain way based 
on the given seating arrangement and thus form a group. 
Which is the one that does not belong to that group? 
(a) A (b) C (c) S (d) B (e) D 
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Eight persons are in a family. There are three married couples in a family. P is grandson of B, 
who is father of M, who is brother in law of D, who has no siblings. M is not father of P. L is 
mother in law of K, who is mother of N. H is only daughter of B.एक पररवार िें आठ व्यक्तत हैं। 
एक पररवार िें तीन पववादहत जोड़ ेहैं। P, B का पोता है, जो M का पपता है, जो D का ब्रिर इन 
लॉ है, क्जसका कोई भाई-बहन नहीां है। M, P का पपता नहीां है। L, K की सास है, जो N की िाता 
है। H, B की इकलौती पुत्री है

If N is only daughter of M, then how N is related to H? 
A.Nephew B.Niece C.Aunt D.Uncle E.None of these

How H is related to K? 
A.Brother in law B.Sister in law C.Brother D.Sister E.None
of these

How P is related to L? 
A.Granddaughter B.Grandson C.Grandmother
D.Grandfather E.None of these
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How many such pairs of digits are there in the numbers “831246759” each of which 
has as many digits between them in the numbers as in the numerical order (both 
backward and forward direction)? 
सांख्या “831246759 ” िें अांकों के ऐसे ककतने जोड़ ेहैं, क्जनिें से प्रत्येक के बीच 
सांख्याओां िें उतने ही अांक हैं क्जतने कक सांख्यात्िक क्रि िें (पपछड़ ेऔर आगे िोनों 
दिशाओां िें)?

A. One B. Two C. Three D. None E. More than three
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Eight people P, Q, R, S, T, U, V, and W live 
on eight different floors of the building 
but not necessarily in the same order. 
Each person lives in a building with floors 
numbered as 1 to 8 from bottom to top.  U 
lives on an odd-numbered floor above the 
fourth floor. Only three people live 
between U and W. Number of people live 
above W is same as the number of people 
live below P. Three people live between P 
and R. V lives on an odd-numbered floor 
immediately above Q. Only two people 
live between V and S. T lives on the 
lowermost floor. 

आठ व्यक्तत P, Q, R, S, T, U, V और W इिारत
कीआठअलग-अलग िांक्जलों पर रहते हैं
लेककन जरूरी नहीां कक इसी क्रि िें हों। प्रत्येक
व्यक्तत एक इिारत िें रहता है क्जसकी िांक्जल
नीचे से ऊपर तक 1 से 8 तक है। U चौिी
िांक्जल के ऊपर एक पवर्ि सांख्या वाली िांक्जल
पर रहता है। U और W के बीच केवल तीन लोग
रहते हैं। W के ऊपर रहने वाले लोगों की सांख्या
P के नीचे रहने वाले लोगों की सांख्या के सिान
है। P और R के बीच तीन लोग रहते हैं। V, Q के
ठीक ऊपर एक पवर्ि सांख्या वाली िांक्जल पर
रहता है। केवल िो लोग रहते हैं V और S के बीच
िें। T सबसे ननचली िांक्जल पर रहता है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Eight people P, Q, R, S, T, U, V, and W live 
on eight different floors of the building 
but not necessarily in the same order. 
Each person lives in a building with floors 
numbered as 1 to 8 from bottom to top.  U 
lives on an odd-numbered floor above the 
fourth floor. Only three people live 
between U and W. Number of people live 
above W is same as the number of people 
live below P. Three people live between P 
and R. V lives on an odd-numbered floor 
immediately above Q. Only two people 
live between V and S. T lives on the 
lowermost floor. 
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Who lives immediately below U?
A. R B. U C. Q D. P E. W

Q lives on the _________________ floor.
A. 4 th B. 6 th C. 2 nd D. 1 st E. None of the 
above

.Who lives on the 3 rd floor? 
A. P B. Q C. R D. T E. W 

Who lives on the topmost floor? 
A. S B. P C. R D. Q E. T

How many people live between U and W? 
A. 2 B. 3 C. 4 D. 6 E. 5
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Ten people are born in five different 
months i.e. January, March, June, 
September, and October of the same year, 
two people were born in one month. 
Note: Persons born in the same month 
are "time twins" i.e. they were born at 
the same time on the same day, in the 
same month. W was born just before S 
and just after V. U and P were born in the 
same month having 31 days. S was born 
in a month having 30 days. R is just elder 
than X and just younger than Q. X is 
neither the youngest nor the eldest 
person in the group. Y is elder than T who 
was not born in the same month as S. 

एक ही वर्ा के पाांच अलग-अलग िहीनों यानी
जनवरी, िाचा, जनू, मसतांबरऔर अतटूबर िें
िस लोगों का जन्ि हुआ, एक िहीने िें िो लोगों
का जन्ि हुआ। नोट: एक ही िहीने िें पैिा हुए
व्यक्तत "टाइि ट्पवन्स" होते हैं यानी वे एक ही
दिन, एक ही िहीने िें एक ही सिय िें पैिा हुए
िे। W का जन्ि S के ठीक पहलेऔर V के ठीक
बाि िें हुआ िा। U और P का जन्ि 31 दिनों
वाले एक ही िहीने िें हुआ िा। S का जन्ि 30 
दिनों वाले िहीने िें हुआ िा। R, X से ठीक बड़ा
है और Q से ठीक छोटा है। X न तो सबसे छोटा है
और न ही सिहू िें सबसे बड़ा व्यक्तत है। Y, T से
बड़ा है जो S के सिान िहीने िें पैिा नहीां हुआ
िा।
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Ten people are born in five different 
months i.e. January, March, June, 
September, and October of the same year, 
two people were born in one month. 
Note: Persons born in the same month 
are "time twins" i.e. they were born at 
the same time on the same day, in the 
same month. W was born just before S 
and just after V. U and P were born in the 
same month having 31 days. S was born 
in a month having 30 days. R is just elder 
than X and just younger than Q. X is 
neither the youngest nor the eldest 
person in the group. Y is elder than T who 
was not born in the same month as S. 
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T was born before _____________ but after ________________. 
A. Y, R B. Y, S C. V, Q   D. U, P    E. None of the above

S was born in ___________. 
A. January B. March C. June D. October E. None of the above

.Who among the following was born in January? 
A. W B. V C. X D. U E. None of the above

How many people are younger than R? 
A. 3 B. 4 C. 2 D. 6 E. None of the above

P was born in the month of _______________. 
A. January B. March C. October D. June E. September

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

A certain number of persons are sitting in 
a row facing to the north. M sits 4th to 
the right G. There is one person sits 
between D and G. Three persons sit 
between M and P. The number of persons 
sitting between D and M is same as the 
number of persons sitting to the right of 
P. Only one person sits between A and G. 
Q sits 3rd to the left of T and sits to the 
right of A. Six persons sit between A and 
Q. Both T and K are immediate neighbors 
to each other. S sits 3rd to the left of K. 
The number of persons sitting to the right 
of K is same as the number of persons 
sitting to the left of D.

एक ननक्श्चत सांख्या िें व्यक्तत उत्तर कीओर
िखु करके एक पांक्तत िें बैठे हैं। M, G के िायें से
चौिे थिान पर बैठा है। D और G के बीच एक
व्यक्तत बैठा है। M और P के बीच तीन व्यक्तत
बैठे हैं। D और M के बीच बैठे व्यक्ततयों की
सांख्या P के िाईंओर बैठे व्यक्ततयों की सांख्या
के सिान है। A और G के बीच एक व्यक्तत
बैठता है। Q, T के बाएां से तीसरे थिान पर बैठता
है और A के िाईंओर बैठता है। A और Q के बीच
छह व्यक्तत बैठते हैं। T और K िोनों एक िसूरे के
ननकटति पड़ोसी हैं। S, K के बायें से तीसरे
थिान पर बैठा है। K के िायीां ओर बैठे व्यक्ततयों
की सांख्या, D के बायें बैठे व्यक्ततयों की सांख्या
के सिान है।
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A certain number of persons are sitting in 
a row facing to the north. M sits 4th to 
the right G. There is one person sits 
between D and G. Three persons sit 
between M and P. The number of persons 
sitting between D and M is same as the 
number of persons sitting to the right of 
P. Only one person sits between A and G. 
Q sits 3rd to the left of T and sits to the 
right of A. Six persons sit between A and 
Q. Both T and K are immediate neighbors 
to each other. S sits 3rd to the left of K. 
The number of persons sitting to the right 
of K is same as the number of persons 
sitting to the left of D.
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How many persons sit between Q and K? 
(a) Four (b) Six (c) Seven (d) Nine (e) None of these

What is the total number of persons sitting in a row? 
(a) Twenty (b) Sixteen (c) Fourteen (d) Nineteen (e) Can’t be 
determined

What is the position of D with respect to M? 
(a) 6th to the left (b) 3rd to the left (c) 4th to th e left (d) 5th to 
the left (e) None of these

If Z sit between A and M then find how many persons sit 
between G and Z? (a) None (b) One (c) Two (d) Three (e) None 
of these

Who among the following sits 4th to the right of P? 
(a) T (b) Q (c) S (d) K (e) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Eight girls M, N, O, P, Q, R, S and T are sitting 
on a circular table, not necessarily in the 
same order, such that some of them are 
facing an inward direction and others are 
facing an outward direction. N is sitting 3rd 
to the left of R, who is facing inside. Four 
girls are sitting between M and N. O, who is 
facing outside the table, is an immediate 
neighbour of neither M nor N. P faces the 
same direction as the person seated 
opposite to her is facing. T sits fifth to the 
left of Q, who is not adjacent to N. S and R 
is not facing the same direction. P sits to the 
immediate left of N. T and M face the same 
direction but opposite to P. S doesn't sit 
exactly between R and M.

आठलड़ककयाां M, N, O, P, Q, R, S और T एक
वतृ्ताकार िेज पर बैठी हैं, जरूरी नहीां कक इसी क्रि
िें हों, कक उनिें से कुछ का िुख अांिर की ओर है
और अन्य का िुख बाहरी दिशा की ओर है। N, R 
के बायें से तीसरे थिान पर बैठा है, क्जसका िुख
अांिर की ओर है। M और N के बीच चार लड़ककयाां
बैठी हैं। O, जो िेज के बाहर की ओर उन्िुख है, न
तो M और न ही N का ननकटति पड़ोसी है। P का
िुख उसी दिशा िें है, क्जस दिशा िें उसके पवपरीत
बैठे व्यक्तत का िुख है। T, Q के बाएां से पाांचवें
थिान पर बैठा है, जो N के आसन्न नहीां है। S और
R का िुख सिान दिशा की ओर नहीां है। P, N के
ठीक बायें बैठा है। T और M का िुख सिान दिशा
िें है लेककन P के पवपरीत है। S, R और M के ठीक
बीच िें नहीां बैठा है।
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Who sits sixth to the left of M? 
A. O B. R C. N D. T E. None of the above

How many people face outside the table? 
A. 5 B. 3 C. 2 D. 4 E. None of the above
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